This question paper consists of 24 questions |Section-A (18) + Section-B (3+3)] and 8 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained
in the booklet are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Booklet Code No. 34/1SS/2, Set [A] on the answer-book.

5. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to-indicate the language you have chosen to answer in the box provided in the
answer-book.
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2. In the given Political Outline Map of India, eight geographical features are
shown—(1) Mountain; (2) River; (3) State; (4) City; (5) Cotton Textile Centre;
(6) Iron and Steel Centre; (7) Dam and (8) Seaport.

Write in your answer-book against each number the correct name of the related

feature. Y2x8=4
%anwé:rmﬁﬁraﬁ‘{@'rmqﬁaﬁ e e @& fa@m 1 d—(1) wda; (2) T4
(3) TST; (4) TH @gﬁwmﬁ,(@«tﬁmaﬁxwﬁmmaww)m
T |
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3. State any six uses of artificial satellites. Y2x6=3

FEM IRl % fheel ©: 3T w1 Ig@ R
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4. Describe any three human responses of the lowlands of equatorial region.
1x3=3

e 2w ) Pyl o S o e s @ e § av iR

5. Name the southernmost parallel range of the Himalayas. Write four
characteristics of this range. 1+2=3

Tewrer 1 =farorem gumTa gdq Aot @1 9 SdqE) 3@ a4l F =R et fafae)

6. State any six characteristics of black soils of India. Yax6=3

IRd o faed areft et gt it o5l ©: fomwanen =1 sga Sifs

7. Describe with examples the three physical factors that influence the density of
population. 1x3=3

SHEEAT % =9 1 UHITEd i arel di Wifdes et i Seren gigd aufa dhifs

8. Why is maintenance of ecological balance essential? Explain by citing any three
reasons. 1x3=3

Wﬁaﬁ%mlm@mmﬁw%?ﬁéﬁwmwwﬁm|

9. Mention any four points of significance of water vapour for life on the earth. 1x4=4

gosft gt Sfie % foru e % Hew & @i wn fag it

10. Define the term ‘Salinity’. Explain the three factors that cause variation of
salinity in different seas and oceans. 1+3=4

“wEvEr e 1 afar AR fafie A s werrd § wEu s % @ F A
Wy i

11. “The distribution of rainfall is uneven in India.” Support this statement giving
any four examples. 1x4=4

“ora § aut @ faeer semE 21 T e e |fgd @ wem i gfy fifv)

12. Explain four major problems related to mineral resources. 1x4=4

TS GHIEA] ¥ SF-d OR Y@ RSS! S 9 A |
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13. Study the given diagram carefully and answer the questions that follow :

1+1+42=4
(a) Give proper title to the diagram.
(b) Name the belts which are mainly formed by descending air.
(c) Which is the single largest continuous belt? Write its latitudinal extent.
U U T A AFAGEF eI i R Frefafan wA % s i
(%) fau o smw % fore 3wy wfdw i)
(@) 3 ufEl % am AR S gerd: i S g % g s g
()  UHAT GEY 9 AR $efl U2 FE-H 27 gEe qeAiviE foen sany
Polar High /Y&did 33
........ SHEE e e e Sa s
eyt foe
3 "I-’_
23%.°
{/ ......................................... \\‘0 “
B e L i ssssssssssaspan )’
.\ ......................................... ./10 .
Sub ro 1ca1 High
\\\\\\\\ T \\\\\\V
............................ 45“
Subpolar Low + = s ¢ ¢« « ¢ o
........ R L L e v
SO 06%:° S
Polar High /&1 3=
14. Study the diagram given below and answer the questions' that follow : 1+1+2=4

(@) What is total increase in length of surfaced roads during fifty years?
(b) What is total increase in length of unsurfaced roads in the same period?

(c) Explain any two effects of this high increase in these roads.
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15. What is glacier? Divide glaciers into two major categories. Write three main
features of each category. 1+1+3=5

feart 0 =7 femif w1 & yg@ At § fanfsa Aife ) yes ot B da-da ger fagvand
forRau |

16. Which are the two categories of population on the basis of the size and location
of settlements? State four characteristics pertaining to each category. 1+2+42=5

afel & R 3R fEfa & SR W SHEEE & & 9 FH-9 37 WAl 91 6 9R-uR
foriwareTt @1 3g@ Hifs |

17. What is chemical weathering? Explain with examples the four major processes
involved in chemical weathering. 1+4=5

TER 205 /&1 27 TEEHE usg § Wil uR Y9 uiEane # e dfdd we
sIferg |
18. Why is productivity of animals very low in India? Explain giving five reasons. 1x5=5

WA H 93l 31 IcaTEhal agd HH 1 27 Ui HRUT I T8 i |
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SECTION-B
Qus-d
OPTION-I
faeheu-1
( Teaching of Geography at Primary Level )
( SmarfieR T W s fererr )
What is a barter system? Write four characteristics of this system. 1+2=3

] - T e @ 27 39 syawen € W faeivard smrgw )

Why are the growing needs of man called the mother of trade? Explain with
reference to food as one of the basic needs. 3

g Y Tedt g Al wl SgR el Sl wRl Sar 27 SfiSH U S
ATETTHAT & G § TEieRr |

Explain four distinct functions of geography. ‘ 1x4=4

e * °r fafie st @ smen fifve)

OPTION-II
ﬁ%%?qfn

( Geography of Tourism in India )
( WRE =T gded e )

How do the climate and weather patterns of India promote tourism in the
country? Explain citing three examples. ; Ix3=8
YR 6l Saary a9 Hew o § wded it R T dgEr 4d 27 W 3w |fed ey
ShifsTe |
State any three points responsible for the popularity of Kovalam beach resort. 1x3=3
e gfe wie di drRlEar & w18 dia foamg aasu

Explain with examples any four ill-effects of mass tourism on environment.
1x4=4

i R G & e IR FuerEl i e dfed v it
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